HX B O R OH$ (k2552 A 1 B B7E)

FEER RS HIX FRRRRLS X
Hh[X 4 QLR aa el Hi[X 4 JLRE 4 a Elckal
% o | s | | & | #REK 7 | ke || B | & [#EK

1 =57 796  895| 906 1,801 4 1 4 40 A H 261 342 347 689

2| A (fE) 1,035 1,218| 1,273 2,491 44 P 3 3 3 6

4 e 515 548| 558 1,106 45 JH/ | 111 91 83 174

5 Jbs e <F 360  496| 468  964| 37| 37 37 48 Yroo& 413 448| 518| 966

6 UNE! 262 431 388 819 49 HOFA 295  324|  356| 680

8| Al (fF) 346  390|  420[ 810 50 LD H 367| 386| 451| 837

10 P 208  203| 227 430 52 [iE)7238 433|  497|  525| 1,022

11 BAH 53] NERE 461 447 552|999

14 _E 6 12 7 19 55 oo B 356  396| 440 836

15| BAEHISE 1,245 1,526| 1,635| 3,161 56 R 259 265 322 587

16 FERISE 1,024 1,446 1,494 2,940 57 B i 173 197 211 408

17 W2 377| 387|449 836 58 — 185 178  214| 392

18 &7 R 321  434| 433 867 59 N 205  226| 250 476

19 SR A 26 28 22 50 60| TG A 17T B 217 231 232 463

20 A H 1,171 1,393| 1,371| 2,764 100| 100 100 61| mE1TH 115 123 141 264

22 FikF 830| 1,002| 1,080 2,082 62| wmHE2TH 151 186 218 404

23 A 277 337 339 676 63| mHE3TH 196 205 236| 441

24 HHN 906| 1,028| 1,134 2,162 64| mE4TH 72 91 85 176

25 VALl 65 /INRHHT 415  486| 503| 989

27 oKW TH 259|  266| 339 605 66| HrH 199 232 243|475

29|  FHEHAE 15 15 15 67 = 110 127 147 274

31 L 79 97 101 198 68| TG 27T B 217 245 270 515

33 KL 315  374| 404 778 69 SR 148 180 211 391

38 FoYAN 158 192 176] 368

9| AN E 146|  206| 214 420 7t 16,039 18,830| 19,996| 38,826 141| 138 141




X BN O R O (k2542 A 1 H BL7E)

FEFRoR X FJEZR R
AR OB T AR I HUEHHE
H1 X A4 QLIRS H XA QLR 28

% LG 0 = S B N “ O %~ % | S| | & [ RE
311 BHB1ITH 475\ 472|485  957| 17| 17 17 |391| #AF1TH 460| 491 485\ 976
312| %2 TH 189 230 231] 461 392| 2T H 110 112 112| 224
321 ME1ITH 428 405 427 832 393 W31 H
329| fE2TH 662 681 692| 1,373 411 KRE1TH 368 390 415 805
323| ME3TH 452 503 486 989 412| KM2TH 355 416 465 881
331 BAH1TH 564|  531|  509| 1,040 28| 28 28| | 413 AMSTH 2731 281| 272 553
332 BAHZ2TH 396| 428|  453| 881 414 A4 TH 3921 393|416 809
333| BAM3TH 427|395  419| 814 431 WE/HTTT H 404| 457|496 953
334| BAH4TH 616 642|  773| 1,415 439| WE/HT2T H 851| 964 1,070 2,034
341 R#1TH 754  752|  759| 1,511 50| 50 50( | 440 kS 642|  731| 765 1,496
342| RMH2T H 311 366 351 717 2 2 2| | 451 EFW1TH 438 496 549| 1,045
343 R#3TH 390 457|462 919 452| EFIR2TH 259 251|310 561
344| R4 TH 277 279 344 623 461 —XCE1TH 812| 1,047 1,059 2,106
345 RK#5TH 401  399| 480 879 462| —3XH&E2 T H 636  732|  751| 1,483
351 KM1TH 915|  874|  951| 1,825 4711 AHITH 47 56 70 126
350 EM2TH 979  885| 1,014| 1,899 472 AH2TH 216  282| 280 562
353 KM3TH 696 721| 782| 1,503| 9| 5| 4| 9| |473| A H3TH 174 222 227 449
361 RAE1T H 281 275 228 503| 83| 70| 13| 83| |[474| S H4TH 319 443 477 920
362| HAHEZ2TH 403| 446 478 924 475 AH5TH 266| 321 349 670
370 o5 7 < 587| 649  624| 1,273 22| 22 22
381 AH1TH 199 288 246 534
382 AH2TH 710 1,041 1,029| 2,070 = 18,431| 20,173| 21,124 41,297| 211| 194| 17| 211
383 AH3TH 297| 369 333 702 N 34,470( 39,003| 41,120( 80,123| 352| 332 20| 352




